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Zai xjct
i L=
TS| S5 75, ohd JPHAl 3 B120| JFSer HAf HOjA] 2[o] HS
ClHaI & 20| MRE E24 £3 HE(Z Z2{A(PTV Plus)
HEI| 8Tt £ 22{X| E2HAD|M(PDK)
7|ojH|
(= 4.89
2 ot 3.17
3t 2.15
4t 1.56
5t 1.18
6t 0.94
7 ¢t 0.76
g ct 0.61
2X7|0 3.99
2|0] & =H| 3.12
MA|
MAH M} A AE AL gl QA JtA of2] FE WH, Z24] HE[E
MAHM OfL|X|HE (PASM)
oFE A% HAHM AEE oS 212t 9| A|=, Eai|U of 3l MAHM
AEZ0f| T™E 2 (McPherson EFY, Z240]| &)
2lo] 4% 20| 242} CHAl Jilo] ZIES2{of ofef Mofsl= Y ZEl F3 Az
AE|0{E JHHAL AE|O{2IH| B AE|0E YEAE Zh= ML XAl ot
AE|E M ALl 2|0 A& AE|0{Z! ZHK|(RAS)
AE|0{EH| 15.0:1( 2t YK, 2]0] H& AE|0{2! BhX| BHEF Al 14.7:1

11.2m

SIEE 0|3 7|52 2E ABSTH MEE ZEH ARjUZ|E|
O L[ X|H E(PSM)




71 MI#

911 71&I2}t S

Bejo|3
He[013 Al A % OIAE A20|E Bl 22 THA Ha|H 220|3, §| 4T AE
Y20l D 25 DHA Ha|H 2303, AR Fkt 2203
oE 3|3, LR &[4, 7Y g
A< BHejlo]3 CjA3
RS 350 mm
Ul 34 mm
2|0 S Hajjo|3 C|lA3 o|d, LR 2t|A 2 JUS
3 350 mm
= 28 mm
g % Ejojof
oHE & 9 Elo|o] 8.5)x 20 ET 53 245/35 ZR 20 Et0| 0]
2|0 & 5! Efojof 11.5J x 21 ET 67 305/30 ZR 21 E}0|0f
3o
g 4,519 mm
HEZ(AO|= Dl Z) 1,852 mm(2,024 mm)
M 1,300 mm
ghfjojA 2,450 mm
o &= 1,589 mm
5l A 1,557 mm
EY3 28 T
Ed3 8% 1321
DIN 7|1ZE 34t 58 1,515 kg
o2 535 1,985 kg
FI5tE 75 kg
(Z24 DTS £3)
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FHMS
Xna&c 308 km/h
&
0-60 mph =x
ATX ZPA DEOA] 3%
0-60 mph
0-100 km/h .
ATX ZHA DEOA 3.5 %
0-100km/h
0-160 km/h 8.1 %
AZX ZHA DEOM 78%
0-160km/h
0-200 km/h 12.4 %
ATX ZA DEOA] 121 %
0-200 km/h
s Y HiE
= 7|= Q2 6d ISC-FCM (EU6 AP)
HE 317 #TH Z2{A(98 ROZ)
|
4y 12.91/100 km
e 7.71/100 km
=gt 9,61/100 km
CO, &
=g 220 g/km
E2 583 5Y G
3 (=) 641(901)
ofo{ZCto|Lig
A ¢y 0.29
HHHA A 2.07m?
Cyw XA 0.600
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